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SiN SBuggested Answers

29a |{i) parrot—E  {ii) Dolphin ~ A {iii) Sheep- C (iv} python - F

29b | Animal D has 4 legs but £ does not.

30a | Like poles of magnet facing each other , 50 they repsi.

30b | Gravitational force/ gravity and magnetic force
iy The globe will drop / move lower

/, D

31a A {given) B D C
531 K Statements ' ' True Falze
{11 B nas more carbor di oxide compared 1o A ¥
(i) | D has more carbon dioxide comparad to B, V ‘
{iity 1B has more digesied food compared 1o B, ¥
{iv) | D has more digested food compared to C. v
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32a | To find out if different surfaces affects the amount of frictional
force.

320 | Car S will stop first as Surface 8 is rougher than Suface P, so
it has more frictional force /more friction between the car
and the surface.

33a |- One switch must be in series with BULB Y
- One switch must be in series with the batltery
- Bulbs are in parallel (nc switch in series with X)
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‘ ’?“\_33/ ’\1 {1y The bulb lights up
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34a | Stretched string fpulled-back siring/ pulled string
34b | The gravitational force / gravity pulled it down/ downwards
to P.
134c [ No. A heavier arrow means moere gravitational fores pulling it

down, so it wili travel a shorter distance.

~1OR No. A heavier arrow needs fo pufl back the arrow more so0

that more potential energy can be converted to more Kinetic |
energy to move it as far.

35z

it makes it fair as the amount of air in the boxes will affact the
resulls of the experiment, thus the amount/ volume of air in the
boxes musi be the same/similar/ constant.
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35h

B. B is warmer than C, and B has more moisture than A {0.5m).
OR B has (alr), warmth and moisture but A doesn’t have
moisture and C doesn’t have warmth,

35¢

Any 2 suggestions:

He could pack his jacket in a plastic bag and put Substance X.




"THe could pack his jacket in a plastic bag and remove the air |

{store

{vacuum-pack) the bag.
e could place the jacketin-a cold/cool piace! refngeratorz’ cold
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36b -

Yes. The other ovary can Sl produce/release enas.

37a

50

370

: Arr haé no gaﬁﬁﬁéfﬁkéﬁwluhmﬁ

roracasad

Noit accepted ‘Al can be compressed’ ot applicable 1o
scenario-given)

37c

Decmas& Air has: mass aﬂd whan some air has be&n
removed, there will be less air and thus less mass in the

' Cﬂﬁiﬂiﬂ&f

38a

.ggravitationaﬁ putentséi engrgy -> kinstic energy 37

_heat engrgy + sound energy

 38b

1 gonverted o more sound energy

When {he ‘hole is b;gger mof'a sand wil {Sﬁplfaﬂ More sami

will have more mass. zmd heve more kinetic energy whichiis
to make a louder: sound

38::

Raise the pail higher

OR Increase distance betweery the holef pailf sand container

| and'the plate/ floor.
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‘ fasier ph@tesynthests

<How adding ﬁsb fmgmved ‘the experiment?> - must show

Fish tan provide more ] increase carbon dlekide for more
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3%
OR Th# plants in-different tanks did not receive the same

The D ams are aidxf‘fm‘eﬁi éistam:.es away from the Jlight source. |

amount of llght

V;Sgc

Any ariangement showing equa d?stances beﬁ»een fsqhi and
each. of the 3 tanks clearly.

| <Distancaes between fight and sach tank must be the same>

30d 11

B. The I ant in B recewﬁd the most light to. narry out the
mosif fastest ghntnsvnthesis m produce-the most oxyoen.

402

Saction A Evaporaﬂ " Section B! Csndeﬂsahen

| 40b

Water can gain more heat evaparate!fasieri mam

HOR
Water vapour canbgcome hotter that it can condense more/ |
{faster {on'the metal sheet later),

I'iote: Difference hetween ‘water’ and ‘water vapour’

- Metatis a better conductor of heat than plastic

AND

Thus water vapour can lose heat! more faster (lo sheaV/ice)
'm condense faster,

40d
| = Companson. on heat.gain by water (when heater was in water
|and oulSide water)

= resulting-fifaster / more evaporation

- producing more water vapour

| = allowing: for miore tondensation into water droplets

ideas needed in answer:

Exampfe
If heateris in the water, the water ::an ga;n maore heaﬂ heat
jasier than when heater is outsids wawr s0 tha water can
‘evgporate faster to produce more water vapour. Hence
mdre ‘water will be collacted in Section B #s there is more

‘water vapour condensed into water droplets




